Name_____________________

Identify the answers for the following using the roller coaster diagram.

1. ___At what point would the roller coaster have the most kinetic energy?

2. ___At what point would the roller coaster have the most potential energy?

3. ___At what point would you have about equal kinetic and potential energy?

4. __________________The force always opposing motion is referred to as
5. This opposing force produces thermal energy which is referred to as ____________ _________________ because it is energy that cannot be used for the motion of the cart.  

6. ___At what point does the cart have a large amount of kinetic energy and is increasing its potential energy?

Give the type of potential energy to which the example is referring.

7. ____________________Stretching out and holding a rock in a sling shot

8. ____________________The energy in bonds of food, gasoline, or in batteries

9. ____________________In the famous picture and statue of soldiers hoisting up the American flag in Iwo Jima depicts the American flag increasing this type of potential energy.
To get credit, you must show all work and list the variable and their identified quantities in the problem.  Put your final answer in the blank.
10. A pear is hanging from a pear tree.  The pair is 3.54 m above the ground and has a mass of 0.14 kg.  What is the pears gravitational energy?

11. A high jumper jumps 2.01 m.  If the jumper has a mass of 67.2 kg, what is the gravitational potential energy at the highest point in the jump?

12. A cat sits on tip of a fence that is 2.40 m high.  The cat has a gravitational potential energy of 88.9 J.  What is the mass of the cat?

13. The sprinter runs at a velocity of 10.9 m/s.  If the sprinter has a mass of 72.55 kg, what is the sprinter’s average kinetic energy?

14. A car having a mass of 650 kg is traveling 30.4 m/s.  What is the car’s kinetic energy?
15. *A tennis ball with a mass of 51 g has a velocity of 9.7 m/s.  What is the kinetic energy of the tennis ball?

16. *A rock rolling down a hill with a velocity of 4.67 m/s.  It has a kinetic energy of 18.9 kJ.  What is the mass of the rock?
17. Extra credit:  What is the potential energy of a 154,000 kg car traveling 45 km/hour?
